Efficiency vs dr

x 0.01
<
9.009
.008
&
®.007
=
9.006
0.005
0.004
0.003
0.002
0.001

1.9

—=— DQM_VO00I_RO0000000T__Global__CMSSW_cKiIOmu__RECO
—e— DQM_V0001_R000000001__Global__CMSSW_mkfitl0mu__RECO
—— DQM_V0001_R000000001 _Global MSSW_mkfitlomu_LowptQ_RECO

Ratio
O

.| —— DQM_V0001_R000000001__Global__CMSSW_mkfit10mu_LowptQnoBKW_RECO

o
©
a

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
)
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
q

0.8

Ratio

0.6F

1073 1072

-1

1
AR(TP, jét)

Efficiency vs pu

500fp———r——————
3 ST I O O
e A e

Y0 S SO OO S O O e
51 E : : : : : : : :
Rl S S S S S
= F : : : : : : : :
RS R A A
0,005+ bordons oo b

S T
0.003F -4+ mmmbe bbb

0.002Ff -+ e doeedboeschonsbon b
0.00121:-5 ----- RS SRR SETP FOPHI SO FOPNE SO

TR R R R TR R
Qe R R

O SRiE kT T IO S S

Ratio

Y 3 A O UL SO SO SO SO SO A
0 2 4 6 8 10 12 14 16 18 20
Pileup




	Contents
	Page 1


